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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 Find the next term of the series:
BDCA, FHGE, JLKI, ?
@l &I el 9g ATd I
BDCA, FHGE, JLKI, ?
Ans X 1. MINPO
X 2. ONMP
W 3 NPOM
< 4. MONP

Question ID : 9888374826
Status : Answered
Chosen Option : 3

Q_2 If TEMPORARY is written as RPMOAETRY then PERMANENT is:
afg TEMPORARY %I RPMOAETRY for@r &iam §, @ PERMANENT &7 & orar

SIrea?
Ans o 1. NMRAEEPNT

X 2. MNREAEPNT
X 3. AMRNEEPNT
/< 4. REANMEPNT

Question ID : 9888374830
Status : Answered
Chosen Option :1

Q3 ?: Clock :: Temperature : Thermometer
7 - g3T - ATIHT - YHATHIEY
Ans Wall

x1'aa'|¢

Time
2.
v oHT

Pendulum

53 3

Anal
54 o8

e

Question ID : 9888374820
Status : Answered
Chosen Option : 2

Q.4 Which of the following contains the World’s largest area of mangrove forests?
fareg o Aeaig F=1 FT TR T97 A7 AT F T Fia-aw &2

Ans Namdapha National Park
1.
STHGTDT IS 3eTel
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Question ID : 9888374741
Status : Answered
Chosen Option : 4

1/34
COURTESY: RRB


https://rrbexamportal.com
https://rrbexamportal.com
https://rrbexamportal.com

Downl oaded From www. rrbexanportal . con

X 2 Rann of Kutch
FHTE F IOT
Balphakram National Park

iij S_undarbansl‘@lr 36T
Heldet

=

Q.5 What will be the least number which when doubled, will be exactly divisible by 4, 6, 9, 12 and 147
a5 SIE-A-BIE Tea Faa § S SRET aRe 9T 9F 4, 6,9, 12 3 14 @ qoiE Question ID : 9888374792
fasnfaa & smwfe Status : Answered

Ans ‘, 1.126 Chosen Option : 4

< 2.252
< 3.504
X 463

Q.6 A question and three statements labeled (I), (II) and (III) are given.
You have to decide which statement(s) is/are sufficient to answer the

Question ID : 9888374856
Status : Answered

question. Chosen Option :4

Question: Who is the shortest among P, Q, R, S and T?

Statements:
I. P istaller than T but shorter than S.
II.  Q is shorter than R but taller than T.
III. S istaller than R and P is taller than Q.
Select the right option from the following.

A v s I AW @A (), () o) Ruoaw #)
T g Aot o & & 9 @ e} & & fau sl
giAta-g saa gaeg 28
e P, Q, R, S 3R T & 9ad oler &le g7
S
. PT%oer feg S & Ol &1
I. QR & oler feeg T & oar g1
. SRA g AP Q@ & gl
farafafea & ¥ 7 RAwer T4
Ans Only statement I 1s sufficient.
x1'aﬁiﬁ$ﬂﬂlw‘rl-—cr§|
Only statement III 1s sufficient.
" et ot Nl e B
v

Statement II and either I or III are sufficient.

Fe |l 3T ar ar Faa | a1 Faa |l 93T g
X 4 Both I and IIT are sufficient.
1 3t I g gaiea §

Q.7 International Tourist Bureau facility of Indian Ratlways 1s not available at a
. uestion ID : 9888374783
AR o9 $T HAWSEE Tied i ghaer H I9eed @91 ¢
A i Status : Not Attempted
ns
K 1 Chennai Chosen Option : --
v Thiruvananthapuram
2. 5 .

pha }
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Secunderabad

GETRIGIA

Bengaluru
EEIGES]

e}

K3

54

Q8 is the name of an Indian Light Combat Aircraft.
Ush AR Goeh oIsId [AHT &l oA §)
Ans Chetak
da®

Tejas

Question ID : 9888374770
Status : Answered
Chosen Option : 2

Q.9 Inthe context of information technology, the process of examining large, pre-existing databases

in order to generate new useful information. is referred to as

Haar e F desd # a8 e AEEd ured #e & e gged @ Fdlag 93
o 1 Sitg Foafer F@r T A &1

Ans simulating
F R - .
pu
_ mining
V2 _
Argfeiar
resourcing

RC:IIESE]

hewing

o

F 43

K4

Question ID : 9888374773
Status : Answered
Chosen Option : 2

Q.10 Which one of the following operations will result in 267
=0 O forg dfepar &1 9fiond 26 gem?
Ans  of 118 x16=12—-11+13
K 218+16-12x11+13
X 318+16+12-11x13
K 418-16x12+11+13

Question ID : 9888374833
Status : Answered
Chosen Option :1

Q.11 A car covers a certain distance in 8 hours at a speed of 50 kmph. What should be the increase in

speed to cover the same distance in 5 hours?
e I U [T g 1 50 FRei/ee oy arer & 8 € F o A 5| ST gl B 5 Hel A ad
FL1 & o g 9 7 fraeh gfg gl anfeee

Ans
x 1 50 kmph _
50 fersT/geT

40 kmph

40 fope/eeT
30 kmph

30 fapef/eer
80 kmph

80 Ferafl/eer

Question ID : 9888374806
Status : Answered
Chosen Option : 4

Q12
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Two buses X and Y leave from the same place and go in the same direction at speeds of 20 kmph Question ID : 9888374805
and 50 kmph respectively. But, Y leaves 6 hours after X has left. How far from the starting place Status : Not Attempted

will the buses meet?

a8 x 3R Y v & T O v & e F werer 20 AR 3t so e fraw Chosen Option :--
TTorchl &1 AR Y X & S & 6 HE oG Toic g1 ATHTC T I fepeter gft ot gt
Ans sz-m 1000 km
F 0
100 TeRaT
200 km
200 ThHAT
150 km
150 TehaT
300 km

300 foRAT

Q.13 Anarticle was purchased m a fluctuating market on different dates at a unit price of (1) Rs. 11,
(ii) Rs. 9. (iii) Rs.8 and (iv) Rs.10. It was sold at Rs. 2 above the purchase price. Which article Question ID :9888374813
was the most profitable in percentage terms? Status : Answered
T 3R IR U aeq (Hed i@ T () Rs. 11, (i) Rs. 9, (iii) Rs.8 T2 (iv) Rs.10 F Chosen Option :3

Ifete Aear GiE T 59 SEF FI Ao U 2 T J0F Hed o a9 17| wicerd F FEE
ik onst Tbar aeg o g2

S SNG
X 2 (i)
v 5 (i)
X4 @)

.14 H :
Q14 Tyndall effect is related to the of light. Question ID : 9388374769
RECREICREIEED O d&dieg g’| Status : Answered
Ans Reflection Chosen Option : 3

r O

Scattering
2.
wehToteT

Dispersion
gfyaraor
Refraction

qadd

Q.15 The LCM of two numbers is 48. The numbers are in the ratio 1: 2 The sum of the numbers is

Y HEATT A H. 48 ¥ At Tt & I 1:2 HIES SIEE Ele k=)

v
K3

X 4

Question ID : 9888374791
Status : Not Attempted

Ans X 1. 60 Chosen Option : ==

v 2 40
< 3.20
X< 445

Comprehension:
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The following table represents the number of items sold by four

divisions of a consumer goods dealer during 2010 to 2013.

Year Division

W X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 26 112 76 20

efa fear T g
a¥ B
w X Y Z
2010 100 96 110 136
2011 130 134 114| 108
2012 140 144 164 96
2013 86 112 76 80

6
the lowest?

w4 g7
Ans B 1 v
K2wW
vz
N ax

Comprehension:

SubQuestion No : 16
Q.1 The combined sales figures in 2011 and 2013 of which division was

frw f3diem & 2011 3R 2013 & dyaa &R s w@e@

Downl oaded From www. rrbexanportal.con

frtef@a arfesr & 2010 & 2013 &r afa & clua
IYHARFAT aFd Sle’ & gR [Sdierel qarT S°l a8 aeg3il &l

Question ID :9888374850
Status : Answered
Chosen Option : 3
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The following table represents the number of items sold by four

divisions of a consumer goods dealer during 2010 to 2013.

Year Division
W X Y Z
2010 100 96 110 136

2011 130 1534 114 108
2012 140 144 164 96
2013 86 112 76 80

mafafaa arfersr 7 2010 & 2013 &1 3afa & gloa =
IYHARFAT aFd Sle’ & gR [Sdierel qarT S°l a8 aeg3il &l
faefaa frar arar 2

a¥ B

w X Y z
2010 100| 96 110| 136
2011 130 134 114| 108
2012 140| 144| 164| 96
2013| 86 112 76 80

SubQuestion No : 17
Q.1 During 2011, which division performed better comparatively? )
Question ID :9888374852
2011 & gRie e fEdiee &1 Jedie 379aTdd dgal 217 Status : Answered
Ans  of 1. b Chosen Option :1
K2z
X3y
Xaw

Comprehension:
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The following table represents the number of items sold by four

divisions of a consumer goods dealer during 2010 to 2013.

Year Division

W X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 26 112 76 20

efa fear T g
a¥ B
w X Y Z
2010 100 96 110 136
2011 130 134 114| 108
2012 140 144 164 96
2013 86 112 76 80

T 87
Ans ._('1_ 15
X211
X311
X 4.16:

o 11

16
15
11

Comprehension:

SubQuestion No : 18

2013 to that of Z in the same period?
2012 wd 2013 # Y g@Rr o7 75 aed3i &1 Fol FEar &
58 gRre 7 canr 9t a1 aed3t f Fo deEr @ I

Q.1 What is the ratio of total number of items sold by Y in 2012 and
8
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frtef@a arfesr & 2010 & 2013 &r afa & clua
IYHARFAT aFd Sle’ & gR [Sdierel qarT S°l a8 aeg3il &l

Question ID :9888374851
Status : Answered
Chosen Option :1
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The following table represents the number of items sold by four

divisions of a consumer goods dealer during 2010 to 2013.

Year Division

W X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 26 112 76 20

frtef@a arfesr & 2010 & 2013 &r afa & clua
IYHARFAT aFd Sle’ & gR [Sdierel qarT S°l a8 aeg3il &l

efa fear T g
a¥ B
w X Y Z
2010 100 96 110 136
2011 130 134 114| 108
2012 140 144 164 96
2013 86 112 76 80

9
four years?

Ans X' 1.116.5
X 2118
V3114
X 41215

Sonali?

S

" oS
.

SubQuestion No : 19
Q.1 What is the average number of items sold by division W during the

Cannot be determined

3'ﬁ#ﬂﬂiﬁ'a%11ﬁnn'aﬂ qehdTl &

TR gl &1 A & g W Bdiee garr Jdt 15 aesit
#1 o dwar Far g7

Q.20 Meera is the wife of Sachin. Sachin’s sister is Sarda and she is the
wife of Arjun. Arun is the son of Sarda. Arjun 1s the brother of
Meera. Sonali 1s the daughter of Arjun. How 1s Arun related to

A1 wfas 1 gl 31 @R 1 95 amer § 3 g8 e

# goelr §1OIFUT ARG F IS 1 oA ART F S F

HATel 3ol T JAET §1 %01 FiATel H1 AT 872
Ans - Father

e

. Brother
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Question ID :9888374853
Status : Answered
Chosen Option : 3

Question ID : 9888374836
Status : Answered
Chosen Option : 2
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Paternal uncle
4.
x T

Q.21 Anamount was invested at a simple rate of interest p.a. for 5 years. It would have fetched Rs.300
more had it been invested at 2% higher rate. What was the amount invested?
TR ISITRT TTLIROT AT T arfiies of 9 5 a¥ & ferw foder & st &1 afey sansr Fr gg 2%
T glelT ot 300 T A& e gicd| faer iy arg i et i
Ans X 1 Rs. 3300
. 3300
v‘; 2 Rs. 3000
. 3000
X 3. Ras. 2000
., 2000
x 4 Rs. 2300
., 2300

Question ID : 9888374809
Status : Answered
Chosen Option : 2

Q22 Book : Author :: Movie :
qtdeh : o e - AT
Ans X1 Producer
ferATar
) E_ditor
dHIGeh

. Director
v 3.
iaﬁﬁﬁﬁ
Master
4,
x HIECT

x

Question ID : 9888374835
Status : Not Attempted
Chosen Option : --

Q.23 P is 4 times faster than Q 1n doing a job. Q takes 27 more days than P to finish the job. If they
work together, in how many days will the work be finished?
P U F I Q AT UG 4 I ol & FLAT §1 T I GATH et 7 Q P HT 379&T 27

et e Sar &) ofe 3 =T ush arer 1T L &, At et Rhde [T & wared gl e
Ans

5§days
6 fet
?%da};s
72 e
?%days

72

r

7 é days

" o3
?iﬁ?r

Question ID : 9888374803
Status : Not Attempted
Chosen Option :--

Q.24 Find the area of a square whose diagonal 1s half of 12cm.
U 3T T &TATE AT hITolU ToTdehT faehuT 12 THT &7 37T &

Ans 18 sq.cm.

«1'1333?@?41

64 sq.cm.

2.
64 3T {AT
36 sg.ci.

> 36 gat gAY

x

x
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Question ID : 9888374799
Status : Answered
Chosen Option :1
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»  100% Syllabus Covered
o 4 Comprehensive Books
« 1000 Pages
L ]
L ]

Only
25,0004
¥1,995/-

Current Affairs (FDF) 70% OFf

Practice MCOs
Support and Guidance F—————
iSRS

wewew hapon LAl e

FOR Hi"[ F' l.'-"l.rl
011-45151781, 45041881

o vt

TS 3 ITelTehTe ATyl & g #,8X 31918, 8X &1 & ARTARY &1 ITd 319 TR siteT I gr ar ufaeayt iR it w3 ar
STt €1 ST 7 37T T3 ST § RRBPORTAL faere ast & 31ma @at ot 31316 ATeas 7 Ueh T UIaTshal U9 ARl
YIS T IET &1 §AR T TTHIT I TheldT HT eI FS 70% &1 ﬁﬂamaﬁﬁmﬁm(VACANCIES)
oK 3Tel dY 31T STaY T HATT HEAT Railway & faaifcaar € &, mmmﬁraﬂgaﬁl

AT 38 96T 3 373 U FEEr ATETT & ST T TATH T&AT H ATFATId 8l &, Tohed ool ATEIH & NI Hlel arel
SIET & T I 927 GAEAT AGHAT eI AT UG FEY ARG ST &

3TTHY gegt FHEEAT3 3T AT o IR F TR g7 Aaa¥ & 39 B Aregs & Yo 97t 18 (3IR3RE), 31893+
FIHAT 3Tt T T AT Torar &1 T gt 38 STl ohT GRT STl T@T & T 3T TISTsha & 3HeJHR AR Hiol Ueh 178
mmaﬂﬁr—aaﬁaaa'ﬁﬁ?ﬁwwsooqv@rﬁsﬂmwmﬁqmﬂmmm

3T 3RAT YT Har? Price of the Kit:
o HIEYH: R Rs 4,000
o 100 ST TETFH Rs. 1,995/-
o 8387 (Limited time Offer)
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e Guidance & Support from Our Experts [ ﬁ- Buy Online ]

Order Online (100% Safe)

Y 31T fashed (Offline Payment Options)
50%
OFF
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72 sg.cm.

. 72 gt ST

Q.25 Who among the following is NOT an international polfer?
fArafafaa 7 4 #ia siasda aiten @t 787 §7?
Ans X 1 Shiv Chawrasia
farg e
Jason Day

" o 2

, Michael Bevan

HISF dd+
. Anirban Lahiri

3iferETa arfgsEr

v

x

Question ID :9888374748
Status : Answered
Chosen Option :3

Q.26 If cost price is 35% of the selling price, what is the profit margin in percentage?
A a Al [aehd Hed 1 35% ¢, al oret ufderd fhdar g

Ans X 1.187.51 %
X 2.183.35 %
V'3 18571 %
X 4.181.75 %

Question ID :9888374814
Status : Answered
Chosen Option :1

Q.27 Classification of Public or Private sector is based on the:

et a1 =6l &t &1 aeffetor sa smar 9v fear S §:

Ans Service conditions of employees

F R
FHHATET $iT Far et

Number of persons employed

2.
FRIT <AfFdal T dedn
Nature of activity

R

Ownership
v &3

TaT#Hca

x

Question ID : 9888374736
Status : Answered
Chosen Option : 4

Q.28 Pragzar Bharati is an autonomous body that comprizes:

YO AR U TERicd e § fSas 3tgea 3an &
Ans AIR., Doordarshan and BSNL
X1'31‘1’ﬂ3’%€ﬂi%€|’f, gledie 3T divauaTe
both ATR and Doordarshan
V7 Sifer gfeem YA 3R e Qe
AIR (All India Radio) only
" Sy siter s e
Doordarshan only
54 - Egﬂ&iﬂ

Question ID : 9888374737
Status : Answered
Chosen Option : 2

Q.29 Which one of the following options mest appropriately describes ObamaCare?
o & & Fla-ar fAFey e @ w98 3 v 8 fenfa wwar &2

Ans Cost of hospitalization
sregarer # wdf @ fr e
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Question ID : 9888374738
Status : Not Attempted
Chosen Option : --
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) Affordable medical care
fPPrRIdr TareeT gar

Abolition of medical insurance

3.~

Free medical care JeHeled
4.
AU T Har

v

Q.30 Car P covers a certain distance in 11 hours at a speed of 66 kmph. Car Q covers 242 km more
than car P in the same time_ Find the average speed of Car Q.
FN P U [AfTad gl ¥ 66 Rell/ge 6T a1 & 11 €el & o Fal 51 FR Q 304 & F9 g 7
I P &l 3191 242 ForalT T8 g sl 81 o Q & sitea =rret wira fste

Ans 718 kmph

1.
i 718 Topatt/eeT

77 kmph
77 TepHlger
88 kmph
88 TehdT/EeT
83 kmph
83 fpAET/EeT

52

W 3

K4

Question ID : 9888374804
Status : Answered
Chosen Option : 3

Q31 “YouthSat® referstoa
PRIC B US|
Ans Youth website
o gy dadHEe

> Satellite

349de
Weekend party

~< 3. )
qedgid dief
. Motion picture

Xf_fh?ﬂ

Question ID :9888374777
Status : Answered
Chosen Option : 2

Q.32 Japan’s ‘Fukuoka prize-2016° for outstanding contribution towards South Asian traditional fusion

music was awarded to:

cfaior vl aiuie wieer Hild A SeclEsii dligR &g ad 2016 &1 SIde
“PHINFT [EFR 578 JaI Fhar I
Ans x 1 Amit Trivedi
fAa BEdr
X 2 Shankar Mahadevan
YT HgIead
X 5 Yasmeen Lan
QAT AT
A_R_Rahman
v &3
T, 3. A

Question ID : 9888374761
Status : Not Attempted
Chosen Option : --

Q.33 Find the mean of the distribution:
130, 90, 25, 77, 250, 100
sfcel &l ATEY AT HIfaT:
130, 90, 25, 77, 250, 100
Ans x 1.725
X277
X 3.100
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Question ID : 9888374819
Status : Answered
Chosen Option : 4
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v 4112

Q.34 An assertion (A) and a reason (R) are given below.
Assertion (A) : Urban India 1s sicker than rural India in spite of
better healthcare facilities.
Reason (R): Urban life is facing the problems of mcreasing
pollution levels, unhygienic garbage dumping, and a fast food
culture.
Choose the correct option.
A U Fue (A) 3R tH FROT (R) @ mr g
YT (A) @ dgaN TAR FRAYEBT & dEeg awld ARG
THIOT ART HT gerer A 3fIF TR B
ROT (R): 6l Sfiael I JqUUT & a¢ §U T, FEARLTRT
ali 8 = B e, R wRe $5 GEpd o aHEnst
I FIHAAT HLAT 95 T@T 6
e fwew o
Ans X 1.
Both A and R are true, but R is not the correct explanation of A
A 3R R gl & €, fred R A T 8T FROT 81 §
A 15 true, but R 13 false
“Awa fheq R e &
A is falze, but R is true
3.
A e &, fed R & &

v 4

Both A and R are true and R is the correct explanation of A

A 3R R gEl @ ¢ 3R R A T H&I ®RT §

Question ID :9888374854
Status : Not Attempted
Chosen Option : ==

Q35
Solvefora®: 7 _ 5

a—2 N a+4

Question ID : 9888374815

Status : Answered
‘o' FT A AT T - 7 _ 5 Chosen Option :3
a—2 a+4

Ans « 1. 19

X 238

X319

X 4 38
Q.36
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Question ID : 9888374844
Status : Answered
Chosen Option : 3
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A statement followed by some conclusions is given below.
Statement: Eating nutritious food 1s the only way to keep the doctor
away.

Conclusions:

I.  Doctors will be out of job soon.
Ans 11 ;Only conclusion I follows tt of doctors.

rimo :w]aﬁﬂ' =y | e Tl %‘[‘ollows from the
given st Both I and II follow
P 7 1| Qe e e @
FUF: :Neither I nor II follows ~ fiece @ic
-fﬁaaﬂlag’ru qrelel &l ¢
farsed: Only conclusion I1 follows
2 rerer Fored 1| rerer s
== ||. ZF F YR FT TF AL Wd 7% TS ¢l

Q.37 Which number will replace (?) in the following series? )

Question ID :9888374824
4,5,8,10, 12,15, 16,20, 2,25, ....... Status - Answered
=@ sEer A (?) & T o3 Sl EAr 3meE? Chosen Option :3
4,5,8,10,12,15,16,20,7,25, .......

Ans x 1. 24
X 2.21
v'3.20
X422

Q.38 What is the fourth proportional to 15, 12, and 20. Question ID - 9888374793

15, 12, 20 T AT T 2 Status : Answered
Ans x 1.14 Chosen Option : 4

X212
/< 3.18
v 16

Q.39 The Government conferred Dronacharya Award 2016 for Gymnastics to:
WEFR & AT & v 578 2016 & FOTHR REFR § T fow: Question ID : 9888374760

Status : Not Attempted
A
" x 1. Sagar Mal Dhaj,ra.l Chosen Option : --
HE Hel ATl
Raj Kumar Sharma
2.
TSl FHAR AAT
Nagapuri Ramesh
X 3.
AT T
vy Bishweshwar Nandi
faraeay A=dr

Q.40 Rearrange the jumbled letters to make a meaningful English word

Question ID : 9888374845
Status : Answered

and then select the one which 1s different.

fqu v sregaffud 3Rl &I gdeddiiud #ih 344 drde

3l esq IAY| Y 3031 & 98 oG g o 3ied A f@e ol
Ans X 1. OLYGBOI

v 2 AEVLTR

& 3. YCEIHRTSM

Chosen Option : 2
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/< 4. HISCYPS

Q.41 B and C are husband and wife respectively. M 1s the father of K and
C. How 1s B related to M?
B 3iX C sraen: ofd 3R 9t §1 M K 38T C &1 f@ar 81 B
M T 2T g7
Ans x 1. Uncle
T
Son
X 2. ot
v Son-in-law
GIHIG
Brother

?(43#5

Question ID : 9888374837
Status : Answered
Chosen Option : 3

Q.42 __ s the “work done in moving a unit charge between two points in an electric circuit™.
‘ol facga wfFc & oF Mgl & AT vF 395 AU F TR A g FET
g gl

Ans v Potential difference

RCECIRES
x 2. Current
HHT
x Power

3.
SIEG]
Resistance
K4

gferrer

Question ID :9888374764
Status : Answered
Chosen Option : 1

Q43 The ‘Rann Utsav’ is a festival celebrated in:
‘TOT 3cHa’ TgI AT Sl g
Ans o Guyarat
P ]

) Himachal Pradesh
fgHTTe goEr

N Rajasthan

ME RG]

Madhya Pradesh

HET weEr

x
x

K4

Question ID : 9888374745
Status : Answered
Chosen Option :1

Comprehension:
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Consider the following information and answer the questions
based on it.

In a building, 30 people drink only coffee, 40 drink only tea, 25
drink both tea and coffee, 20 drink both tea and milk and 15 drink

all the three — tea, coffes and milk.

farafafaa seert W Er &% 3k 39§ smarR w weal
& 3eav &

U 3 A 30 @r ad wihr d9id &, 40 dad T 9T g,
25 9/ 3R b1 gt 97 §, 20 9 3R g gt 9
31X 15 @er diEt 97 (3, S R gy) 9 8

SubQuestion No : 44

Q4 The number of people who drink only coffee is than
4
those who drink all the three (milk, tea & coffee).
heel Il 9=t arel s Hr T A= 9 gy, 9 3R

Question ID : 9888374847
Status : Answered
Chosen Option : 4

FIhT) tﬂa‘“mﬁa’wﬁaﬁr@ﬂmﬁ el
Ans - 15 less
1.
" 10 &H
X 2 20 less

20 FH
5 more

?(3-5 31feren
15 more
"’4'15 sifers

Comprehension:

Consider the following information and answer the questions
based on it.

In a building, 30 people drink only coffee, 40 drink only tea, 25
drink both tea and coffee, 20 drink both tea and milk and 15 drink

all the three — tea, coffes and milk.

farafaf@a et | R & 3k 39§ 3R W weal
& 3ea} &l

U Iad A 30 T hdel Hihl d9id §, 40 had I 91T g,
25 W 3R FHIhr g dd §, 20 9 3R gy ael 9 @
31 15 @Rt el 97 (3, i iR gen) did &)

SubQuestion No : 45

Q.4 What is the difference between the number of people who drink tea

° and those who drink coffee?
grr it aret 3 i dis aret T g F i F T HaT

T §7?
Ans X 1.70
X 210
V'3 30
X 440

Question ID : 9888374848
Status : Answered
Chosen Option : 3
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Q.46 250 grams of a sweet has 20 grams of cashew and 30 grams of almonds. How many grams of
cashew and almonds, respectively, will be there in 350 grams of the same sweet? Question ID :9888374796
e fieTs #1250 AT ATATH 20 T Fr1, 3R 30 I TG 1| 5T Fors F1 350 I AT H Status : Answered

o] X AETA AR Fhel= AT g Chosen Option :1

Ans v 28 and 42
28 3T 42

21 and 28
21328
40 and 60
40 3R 60
25 and 45

25 3T 45

Q.47 A question and three statements labeled (1), (II) and (III) are given.
You have to decide which statement(s) is/are sufficient to answer the

52
X 3.
54

Question ID : 9888374857
Status : Answered

question. Chosen Option :1
Question: What 15 40% of a number?

Statements:
I.  25% of the number 13 60 less than the number_
II.  20% of the number 15 an even number.

III. 5% of twice the number 1s 11—0“' of the number.

Select the right option from the following.
A ve gt 3R A wee (1), (1) 3 () RBo aw #
R g ol oar & & Wi &1 3o & & v #ie-
qala-g wud gaea 2
WeeT: Ush T&AT & 40% AT §7
Sl
I. 3%d @& # 25% 39 & H 60 FH T
Il.  3od §&AT #T 20% TH GF &1 ¢l
M. WH@T?}?WHS%WWTH%%I
forafaf@a & ¥ wd RFea g
Ans v Only T 1s sufficient.
el | gAfed 2
X 2 Both II and IIT are sufficient.
I 3R g AT §l
X 3.

Statement IT and either I or III are sufficient.

Fore || 31 ar ar aaer | ar Fae Il 9aica )

x Only IIT 1s sufficient.
4.
dad Il gaTed gl
4 i ; 43
Q48 18 NOT a mode of heterotrophic nutrition. Question ID - 9888374771
qOIf8d vt & U ggha B al Status : Not Attempted
Chosen Option : --

Ans it
K . Parasitic
qLTEr
X2 Holozoic
qrivraH
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vE Automatic
Taarferd
Saprotrophic

4.

LA

Q49 Find next two letters that follow in the series:
ABBDEEEHIII _ ...
sl # 3 AT T @ R A E2
ABBDEEEHIII _ ...

Ans X 117
X217
X31g
v i IM

Question ID :9888374827
Status : Answered
Chosen Option : 4

Q.50 The headquarters of the Indian Couneil of Agricultural Research (ICAR) 15 located at:
AT FTY g aiwg (TEETSN) F1 ATAed Ja Tod &

Ans ".,1 New Delhi
. Flé' _

Bengaluru
EEIGES]

e}

Dehradun

Xs.w

Mumbai

X4'3179|€

52

Question ID : 9888374740
Status : Answered
Chosen Option : 1

Q.51 A chemical reaction is called reaction when heat is given out.
ord Tt fafRar 7 AT Seadr § 39 sifafran wgr S g1

Ans v exothermic
 FeATATd
combination
qarae
endothermic
FEATAE
decomposition
HYHCA

X 2.
503
54

Question ID :9888374767
Status : Answered
Chosen Option :1

Q.52 The contraction and expansion of the walls of food pipe 1s called movement.
sirfer el &1 GEART & HoFaa 3 wRoT #=r I T AT B
Ans v Peristaltic
1. -
)
) Gastric
i f
Oscillatory
3.
Diastolic
X 4.
Fefferferere

]

x

Question ID :9888374772
Status : Not Attempted
Chosen Option : ==

Q.53
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Which of the following is NOT a cause of air pollution? Status : Answered

Ans _ Mining operations Chosen Option :3
X &or NUT &1 & 61 o7
TdAd H

N Acid Rain
JFTT Tt
Agricultural activities

3. i -
Burning of fossil fuels

" Shrarest EereT BT STolell

v

x

Q.54 1 1 1 -
The Supreme Court of India came into being on: Question ID :9888374758

AN ol 3~ddA «didleld g8 a1 31 Edca A AT o Status : Answered
Ans 26t ofIanuary 1950 Chosen Option :1

F R
26 Sietadr 1950

28% of January, 1950
28 S=radl 1950
15% of August, 1949

15 FHIEd 1949
26" of November, 1949

4,
26 siday 1949

" &3

X 3.

Q.55 The process of splitting water molecule by light energy is called
ST Sl & Ol % sy & Ta@ea € yfear &7 T T B Question ID : 9888374768
. . Status : Answered
Ans x 1. Radl(ﬂ}rgls Chosen Option : 4
fafergor-3rages
x Electrolysis
2.

facgd-3raee
v Photolysis

HhIRM-I9H T
x4 Thermolysis

aTI-37q8ee

Q.56 The maturity values of an amount in 5 and 6 years at 8 % simple interest p.a_are Rs 1120 and
Rs.1184 respectively. Find the amount. Question ID : 9888374810

e yeIfET T G STt 1 8% a1 g1 9 5 3N 6 aut F afaeaar ufr weAen Status : Not Attempted

1120 T3 3R 1184 T9F B | F@w= 719 T Chosen Option : ==
Ans Rs.560
e T. 560
Rs. 800
v ¥. 800
Rs.160
s T. 160
Rs.600
x4 T. 600

Q.57 Which one of the following names 1s NOT related to economic theory? .
&3 o e Question ID :9888374780
fote=t —r A Rrafc e Hﬁ%ﬁ Status : Answered

Ans Thomas Robert Malthus Chosen Option : 4
x 1 ¥ L
ATHA JaE HAledH
David Ricardo

* s Rt

x

18/34
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. John Maynard Keynes
S AT R

. Niels Henrik David Bohr
e gl sfas AR

Q.58 An article was sold for Rs.2500 at a profit of 25%. What was the amount of profit?
e T 25% ST S 2500 T H 9T TS| o1 BT [fer Ay ofi
Ans . Es. 1000
1.
o . 1000
Rs. 500
2.
v . 500
; Rs. 250
3.
ol 250
x4 Rs. 2000

. 2000

x

v

Question ID : 9888374811
Status : Answered
Chosen Option : 2

Q.59 15 men can do a work 1n 20 days. How many days will 10 men take to do double the same work?
15 IMEHT Tar & Y 20 Teit 3 a6 et &1 10 3MEHT 38 & NI FH 1 FACT FET F Question ID :9888374802
T foraeT Tt ot Status : Answered
Ans X" 1. 40 Chosen Option :2

v 2. 60
< 3.50
X 4.30

Q.60 An assertion (A) and a reason (R) are given below.

Question ID : 9888374855
Status : Answered
recent times. Chosen Option :1

Assertion (A) - The sale of mobile phones has increased manifold in

Reason (R): The craze for e-commerce drives mobile sales.
Choose the correct option.

A TF FUe (A) IR wE FROT (R) GAr ww g

HYUA (A) : HSISAT B 1 &G A grer & Gal # &5 aper

If& §% o
FROT (R): $-HAY F 9fd o[ o Asa 1 &6 1 3o
A Acg #1 gl
e fawew g
Ans x1_

Both A and R are true and R 1s the correct explanation of A
A 3T R gl @c § 3 R A & |8l $RT ¢
A 15 true, but R 13 false
“A T ¢, fheq R 71ed &
A i3 false, but R is true
A e g g RETE
F 3

Both A and R are true, but R is not the correct explanation of A
A 3R R gl @ca €, feq R A &1 T8 HROT =781 §

Q.61 Who was sworn in as the Governor of Odisha on the 21%t of March 2013?
21 AT 2013 &7 Faa s & Tsaara & & F 9T @?

Ans X 1 Shr1 Keshari Nath Tripath:
ol Sherdr ATy Ty

Question ID :9888374757
Status : Answered
Chosen Option : 2
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V2 Dr. 8. C. Jamir
ST T, °. AR
s Shri Ram Naik
Shri Ram Nath Kovind

4'@r¢mmaﬂﬁﬁ

Q.62 X 15 the son of Z. Y 15 not a son of Z. K 15 Z’°s wife. X 15 the brother

of Y. How is Y related to K7
XZHATE Y Z H1 deT 81 gl K Z 1 9l 81 X Y

FT A §1 Y K &1 Far g2

Ans Daughter
wwgh
Xs.?ﬂ;ﬂ

X 4 Grandson
Q.63 In economics, a very deep, long and painful recession is called
A 7 §gd Aeq, ool R géed AT HY &gl AT 81
Ans « ! Depression Chosen Option :1

S CEI
Deflation

aehifa

Inflation

wRf

Depreciation

Hederd

x
<

Question ID : 9888374838
Status : Answered
Chosen Option :1

Question ID : 9888374781
Status : Answered

K2
K3

54

Q.64 Silicon s a CO]I]I]]OH.].}F used Question ID : 9888374765

afeea 3mAGit 9T 9 d E’I?T ATl %I Status : Answered

Chosen Option :1

Ans wE Semi-conductor
3ref-aTee
Conductor
2.
x Uleleh

Amplifier
[UFEeC L riy
Insulator

X e

Q.65 Find the mode of the following data: Question ID : 9888374818
110, 80, 70, 90, 120, 90, 80, 70, 60, 80 Status : Answered
st sifest a1 ager 7 Ofesen Opion
110, 80, 70, 90. 120, 90. 80, 70, 60, 80

Ans  of 1. 80

X 2110
X 3.90

K3
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X 4120
.66
@ Complete the Hﬂ.ﬂlﬂg}r Question ID :9888374821
IfD=17,F=2 Status : Answered

e d I T FI

gig D =178 a F =27
Ans X 1.33

V237

X 3.27

X 4.23

Chosen Option : 2

Q.67 From the given options, find the rational number between the range f and 0.6.

few e et F & 2/4 31X 0.6 & e 3= gl 9fET dear #la-dr e
Ans 11

P Pt
25

21
40
53 3

4

X 4 11

4

v &3

Question ID :9888374788
Status : Answered
Chosen Option : 2

Q.68 “Sahitya Akademi’ is mainly dedicated to the promotion of:
HIged IPIEHT LT TT T 38 YIcams o & Tolv Jafd g

Ans Drama
1.
x olceh

Music
K2
EEl]
Literature

Hifecd

Dance forms

x4'ﬂ?~£ra"ri%lﬁ’

V'3

Question ID : 9888374743
Status : Answered
Chosen Option : 3

Q.69 The areas of two similar triangles are 121 sq m and 64 sq m_If the median of the 1* triangle =
12.1 m, then the median of the 2*4 triangle will be
o FAET PRIl & e w121 791 A7 31 64 9 #1 §) A ager P 1 Anfer
12.1 # §, @ gt Preg &1 Anfeaer gt

Ans 6.4 m

1.
o 6.4 Hr
54 m

84 H

58m
3.
v 8.8 HI

92m
9.2 HT

X 2.

54

Question ID : 9888374816
Status : Answered
Chosen Option :1

Q70 ‘Biosphere Reserves’ are most appropriately described as:

SaEse FRTET &7 &1 g9y T Hawr

Ans Bio-gas production sites

x1'am’r-ﬂﬂ3?cr|ac—rrwa
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Status : Answered
Chosen Option : 3
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x Mineral deficient reserves

2.
@fest $1 w47 arel sy
PR Learning sites for sustainable development

gad e & Feaae T
Sites affected by deforestation

4&3’?%&@??%1@3%

Q71 The ‘Kud dance’ is a famous dance form of:
e, ofcd’ G H Th GG dcd T §:

Ans x Madhya Pradesh
1.
He 9eem

, Jammu & Kashmir
SFH-RHR

x 3 Odisha

RUIER
. Rajasthan
| STETe

v

x

Question ID :9888374744
Status : Not Attempted
Chosen Option : ==

Q.72

If —> —002314then — ~ =
43.21

0.0004321
1

afe 1 =oo02314¥ A — 1 =0
43.21 0.0004321

Ans X 1.2314
v 2 2314
< 3.0.0002314
X 42314

Question ID : 9888374785
Status : Not Attempted
Chosen Option : --

Q.73 Two varieties of salt, T and S, costing Rs. 25 and Rs. 35 per kg respectively are mixed in the ratio
of 4 - 6. The mixed variety is sold at Rs. 37 per kg. What is the approximate profit percentage?

HE $T a1 faneAl T 3R s, et v Fea woer 25 T 3 3s v ufd el €, 4 -6 %
sreqara # fafaa o arar €1 fafa fees & 37 w92 afd fealt e & s smar 21 e
icere etarstar TR §7

Ans  of 1.20%
X 2.33%
X 3.25%
X 4. 38%

Question ID :9888374812
Status : Not Attempted
Chosen Option : ==

.74 .
Qa7 Whatlsgthoféﬂ% of 807

Question ID : 9888374798
Status : Answered

80 & 60% T E fahcietT g Chosen Option :1
Ans 1 1.42
X 248
X 328
X 4.56
Q75 1s a semi-luxury tourist train.

T FI-oTaFall e ¢ gl

Ans
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Status : Not Attempted
Chosen Option : --
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Question ID :
Status :
Chosen Option :

9888374789
Answered
4

Question ID :
Status :
Chosen Option :

9888374742
Answered
2

Question ID :
Status :
Chosen Option :

9888374800
Answered
2

Question ID :
Status :
Chosen Option :

9888374735
Answered
2

Royal Rajasthan on Wheels
X1, .
U TSTEAT 31+ Fled
= _ Deccan Odysse
%3 yssey
SFhel AITSHT
v Desert Circuit
seic "ide
Q76 3 0= 03=003=x0003="7
Ans X 1.81x10~4
X 2.81x1077
X 3.81x1075
v 4. 81x107®
Q.77 soils are also known as ‘regur’.
R - - B 2 e c ol B | S L
Ans x 1 Alluvial
olellG
> Black
HTell
Desert
X 3.
HASEAERT
X 4 Mountain
qad
Q_78 A wheel has a diameter of 84 cm. How many revolutions should it make to cover a distance of 792 m? (1=22/7)
o g T S 84 AT §1 792 FRI ¥ gl T T F U 7 Fhce T oo g (n=22/7)
Ans X' 1.208
v 2.300
X 3312
X 4.256
Q.79 Choose the most appropriate option from the following.
GDP is the total value of during a specific period.
Frfafad # @ aaifos sRE R T
wFhe W e @E) v AT e F gl T Fel T ¢l
Ans x 1.
all goods and services produced or sold
asl agsil 3R A3t & 3curga srvar fash
" &3
all the finished goods and services produced within a country
U 2 & oY gl dar A 3 & g fansit
53
all intermediate goods and services produced or sold
asft Aegadt avgstt i Jasd & cues sremEr fEEh
F 3
both intermediate and final goods and services produced within a country
o ¢ & ofiar el Avgedt it daw et ave & A i § 7 dansrt
Q.80 The idea of non-cooperation movement during freedom struggle did not envisage:
TacAar TuY & ghie gu s gl & IRFeusT H g I 6T on
Ans
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Status :
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9888374746
Not Attempted
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the boycott of civil services.

geHfeie Har3T &1 afgsar|
the boycott of foreign goods.
v z popula_r violence.T FfgwahT|
3
N the surrender of British titles.
farfeer swieaT & g

F R

x

Q.81 Ifthe mathematical operators —, +, » and + are represented by G, P, U and S respectively, then
find the value of
483S83PT7U2G21.

afg NfodRr TFRF -, +, x AR+ F FAE G, P, U @ S oW Wwfa e
ST ¥, @ 48S8PTU2G21 & A dard|

Ans x 1.0
V2 1
< 3.20
X421

Question ID : 9888374831
Status : Answered
Chosen Option : 2

Q.82 12 men or 24 boys can do a work in 20 days. In how many days, will 24 men and 12 boys

together complete the same work?

12 3TEHT AT 24 TS Wb HIA HI 20 AT 7 HL Tohd &1 24 AT 3R 12 w=& Feat 340
FTH Tl fohael TGl § FAT & o9

Ans 110
X212
X 315
Vs

Question ID : 9888374801
Status : Answered
Chosen Option : 4

Q.83 The Buddhist shrine “Temple of Tooth’ 15 located in:
dtg drerems gia &1 #ifer agl g &
Ans x 1 Malaysia
Helferan
, . Sri Lanka
2 51
el
Nepal
F 43 P
sTarer
China
54
e

Question ID : 9888374762
Status : Not Attempted
Chosen Option : --

Q.84 The number of boys in a bus at the starting point is twice the number of girls. On the way, when
15 boys got down and 10 girls entered the bus, the number of boys and girls became equal How
many boys were there at the start of the journey?

EITC Teig, X U o # AZH1 1 W1 w3l i G&ar I Gl &1 T 7 15 T3 3
St 3 10 eisfRal a9 9T 96 el §, Foret eiset 37X ersferal i iwan axre g1 & 81
TS T R3TT H ST 3T T 7 off?

Ans X 1.45
X 2. 40
v 350
X 455

Question ID :9888374786
Status : Answered
Chosen Option : 3

Q.85 What will be the value of the expression if the signs ‘" and °+” are interchanged?
IB-2+1%x6+6
afg '~ wd '+ REal F T 39w A g QU S, df @ & J9 F=2 gen?
B-2+1%X6+6

Ans X 1.37

Downl oaded From www. rrbexanportal.con

Question ID : 9888374832
Status : Answered
Chosen Option : 2
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X 2.20
X 3.0
v 419

Comprehension:

Consider the following information and answer the questions
based on it.

Y 1s a housewife and her husband is an Inspector. Their sons J, a
teacher and K, a banker are married to a nurse and teacher
respectively. I's son P, an Inspector 1s married and has 2 sons. K's
daughter Q, a software engineer is married and has two sons. All of
them live in a joint family.

farafaf@a st W fdar & 3 39% MR W weal
¥ 3oa}

Y us Ffgolt § 3R 3oer ofd et €1 39 ¢ J UF
Rl 3t K e dag &, Oadr ael A o a9 3R
U RITTH T g5 81 J &1 Adfed 91 Pt SEIFA g,
foraes 2 d¢ g1 K @1 faarfga @€ Q ush diteday Sollfele
e, foa® or 9¢ g1 3 g3l vs H@gea 9E” # Ed ol

SubQuestion No : 86

Qés What is the male : female ratio? Question ID : 9888374840
qEY : AT HT I 4T 87 Status : Not Attempted
Ans x 1.4-8 Chosen Option : --
XK21:1
K 38:4
vi9:5

Comprehension:
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Railwa_y Recruitment Board

RRB NTPC (Tier -1 & Tier -2) Exam

RRB NTPC (Tier -1) Exam

RRB NTPC (Tier -2) Exam

Exam PAPERS

Exam Syllabus

Eligibility

Medical Fitness

RRB Post Preference & Zones List
qdreT f¥eed "Exam Syllabus in Hindi"
Printed Study Material (English Medium)
RRB NTPC Exam for Aptitude Test
RRB NTPC Exam for Typing Skill Test
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Consider the following information and answer the questions
based on it.

Y 1s a housewife and her husband is an Inspector. Their sons J, a
teacher and K, a banker are married to a nurse and teacher
respectively. I's son P, an Inspector 1s married and has 2 sons. K's
daughter Q, a software engineer is married and has two sons. All of
them live in a joint family.

farafaf@a st W fdar & 3 39% MR W weal
¥ 3oa}

Y us Ffgolt § 3R 3oer ofd et €1 39 ¢ J UF
Rl 3t K e dag &, Oadr ael A o a9 3R
U RITTH T g5 81 J &1 Adfed 91 Pt SEIFA g,
foraes 2 d¢ g1 K @1 faarfga @€ Q ush diteday Sollfele
e, foa® or 9¢ g1 3 g3l vs H@gea 9E” # Ed ol

SubQuestion No : 87

Question ID :9888374842
Status : Not Attempted

x Teacher — Inspector
2.
fifaterr - Svdeae

X 3 Housewife — Banker
ayfgoft — dat
Nurse — Teacher

o 4.

S T - feaTR

Q.8 Which of the following combinations is a couple, from the given
information?
&1 S TR & YR W Fdn] F saH ¥ Fia-ar U Chosen Option : --
faarfea st &7
Ans x 1 Teacher — Teacher
farfgresT - fRrarw

Comprehension:
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Consider the following information and answer the questions
based on it.

Y 1s a housewife and her husband is an Inspector. Their sons J, a
teacher and K, a banker are married to a nurse and teacher
respectively. I's son P, an Inspector 1s married and has 2 sons. K's
daughter Q, a software engineer 15 married and has two sons. All of
them live in a joint family.

farafaf@a st W fdar & 3 39§ smar W weat
¥ 3oa}

Y us Ffgolt § 3R 3oer ofd et €1 39 ¢ J UF
R 3t K e dog &, SedT aidl A o a9 3R
U RITR T g5 81 J FT QAafRd da1 P o ST9F B,
foas 2 d¢ g1 K &1 faarfga 9€1 Q v diveday Solliaay
g, 5% o 3¢ €1 ¥ @eh v wgea 9REr # wd

SubQuestion No : 88
Qéa Q’s grandmother 15 a .
Q Fr TEr Th gl

Ans »y Housewife
ol
Nurse
52
a4
Banker
53
EETy
Teacher
X 4
ferfarerT

Question ID :9888374841
Status : Answered
Chosen Option :1

Q.89 Which one of the following belongs to India‘s inter-planetary mission?
frafafaa # @ 71 9Ra F Ay few @ g&fag 82

Question ID : 9888374778
Status : Answered
Chosen Option : 3

Q.90 Workbook, in a computer application, 1s basically related to
F H aFgF FHAGR T 308 Tafad gl &
Ans o 1. MS Excel
7 2. Adobe Reader
< 3. MS PowerPoint
X 4. MS Word

Question ID :9888374774
Status : Answered
Chosen Option : 1

Q.91
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If cosb = 4;, sech + tand =7

Ans  of ¢c23 =4/5 &, Ol sech + tand =?
X 21
X33
K44

Status
Chosen Option

:Answered
1

Q.92 A person is called computer literate if he/she 1is just able to
Fis fFd “FU TR Fgardl ¢ TG a8 T&TH gl had
Ans Run need-based applications
1

 3TaeTE UfHFerEt 1 g &

Create anti-virus software
UE-aRRE AUcdT gare A
. Write programs

g e

Hack other computers

X4'qﬂi$m1ﬂaﬁ%$aﬂﬁﬁ

K2

x

Question ID
Status
Chosen Option

19888374775
:Answered
1

Q.93 IfHIJACK is coded as UVWNPX, then what is SPOON coded as:
afg HIJACK &1 UVWNPX & &7 # #ig feam orar &, df SPOON &1 foa &7 #
s fHar se?

Ans X 1. GQPPO
v 2 FCBBA
< 3. EONNM
X 4. PSNNO

Question ID
Status

19888374828
:Not Attempted
Chosen Option :

Q.94 1n the famous book, Hind Swaraj (1909), Mahatma Gandhi declared that the British rule in India
was established:
g gra® fie Fatrsr (1909) & AgleAr aidl «f Fuse a1 & oa & fafeer amaa

T feram amr am
Ans with the co-operation of Indians.

v AT & Hgdr &)
by using force.
" et T CanT|
without the co-operation of Indians.

: AR & FgAEr & &«
by other foreign powers.

" St el GanT|

Question ID
Status

19888374747
:Not Attempted
Chosen Option :

Q.95 The name of the famous tigress of Ranthambore National Park, Rajasthan that died in
August 2016, was -
ToIEATel & (Uil aizierer ardh A1 9ffe aiftter, e dgted siered 2016 & gan
o, A W AT S o

Ans x 1 Sita
drar
Machali
ATl
Sundari

" et

e

¥

Jhumroo

X+ gre

Question ID
Status
Chosen Option

19888374739
:Answered
12
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Q.96 A father gives money to three of his sons, Ramu, Shamu and Dhamu, in the ratio 7:5:9
respectively. If Dhamu gets 120 more than Shamu, how much does Ramu get?
e T 31T STt T, AT, 3T e 3 37eft et swerer 7:5:9 & vy # afean 71 afg
oI T e Ui eme & 120 31 §, oY T T Frelt iy fencelr @2

Ans X 1.150
#2300
X 3420
v 4210

Question ID : 9888374794
Status : Answered
Chosen Option : 4

Q.97 1s the highest legislative body of India.
 oORd %I gdarcg @url B gl
Ans The Cabinet of Ministers

Fiee

X2 The Supreme Court
3TddH drdTeld

X3 The Election Commission
aras smanr
The Parliament

o3 .

Question ID : 9888374756
Status : Answered
Chosen Option : 2

Q.98 While editing a text document in MS Word, the combination keys used for copying and pasting
text are respectively:
TH TH a5 % IFEC SiAgAC 1 WEMGd Fd HET H 3N UR #E & fow
FA: A [ Fiorar wgFT i £

Ans 1. Ctrl+¢, Crl + z
W2 Ctrl+c, Ctrl +v
Ko ctrl+x Ctrl+v
X4 ctrl+v, Ctrl + ¢

Question ID : 9888374776
Status : Answered
Chosen Option : 2

Q.99 A worker’s salary was increased by 30%, so that his salary became Rs. 910. How much did he

earn before the increase?

s FAAE F Ad=T 7 30% $T gig 1 73, a9 35 ad 910 TG g1 T S 1 |
el 3hT diel T AT?

Ans X 1.1300
< 2.880
v 3. 700
X 4.810

Question ID :9888374797
Status : Answered
Chosen Option : 3

Q.10

Downl oaded From www. rrbexanportal.con

Question ID : 9888374843
Status : Not Attempted
Chosen Option : --

29/34
COURTESY: RRB


https://rrbexamportal.com
https://rrbexamportal.com
https://rrbexamportal.com

Downl oaded From www. rrbexanportal . con

A statement followed by some conclusions is given below.
Statement: ABC Tuitions promise excellent teaching by excellent

teachers for sure success.

Conclusions:
Ans Neither I nor II follows
( T 15588,
A | & arele war §
.«}6 57] Only conclusion I follows ollows from the
gwenstaﬁﬂ' ﬁ'ﬁ;& R IGGE TG %—
U %9 Only conclusion II follows w® ¢l

X3
~eit Whaer TSRy || OTere adar &7 3t Rt
GdRT 3 Both I and II follow

L1 31 Qe e A

U 1L 39l A8 dlel eH ce el &l SIE3Ads (Al
Q.10 Amjad Ali Khan is an Indian classical musician who plays the:

HASE, 3l G U ARG AT Gfider § & 99d g

Ans L. 1fablaaﬂésﬁmeﬁamﬂmaﬁ§3ﬂ§|
wens' ROFETAT forvad § R gu Fya F1 afes T qrerer

=== 2? Mandolin
Ao

Sarod

R

Question ID : 9888374759
Status : Answered
Chosen Option : 4

Q.10 Under the Railways’ dynamic fare pricing, the fare component may with the subsequent

2 bookings.
o & aifcefier fRemr Aeg @uiRer & dgd 9 ded & ar-Er T I

Ans may imncrease or decrease
a d¢ AT °C Hehdl &

be scrapped

T AT T Tl &
decrease

b Al §

increase

9¢ TFhaT §

X 2.

53

v &3

Question ID : 9888374782
Status : Not Attempted
Chosen Option : --

Q 10 Kabaddi is NOT the State game of
FISST [T F IMEHRE @FF =Tel 1

=

Ans v Rajasthan
RIS RS

Tamil Nadu

KZWJ
K3

Telangana

REEIGH

Punjab
i

X 4

Question ID : 9888374750
Status : Not Attempted
Chosen Option : --

Q.10 The Netaji Subhas National Institute of Sports is located in
Adrell GA TSER ISt HEATH 7 feerd g1

Ans
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New Delhi

X s e

Patiala
( 2 =T
Dehradun

X&W

x4 Kolkata

Q.10 Rekha reads 15 pages in 25 minutes. How many pages will she complete in 45 minutes?

S Ywr2s Bee & 15 9ol ed &1 45 flee & ag fde gt udelo
Ans X 1. 30

v 2 27

X325

X 435

Question ID : 9888374795
Status : Answered
Chosen Option : 2

Q.go Complete the analogy.
If MGE = 25, then LJF =?
qreed I qU |
qiG MGE = 25 g, df LJF = 2
Ans  of 1 28
<216
X322
X 418

Question ID : 9888374822
Status : Answered
Chosen Option :1

Q10 Afier how many vears, will Rs. 1,728 become Rs. 2,197 at 8 % % p.a. compound interest?
7
BETIFEEEDE % % T ¥ 9T 1,728 T fohael ant & 2,197 g SIRER

Ans 2 years
F R Y
299
1
IEyears
1-ay
2
3 years
399
1
2Eyears

2%@‘{

52

v &)

X 4.

Question ID :9888374807
Status : Answered
Chosen Option : 3

Q.10 How much will Sangita get, if she deposits Rs. 37,000 at a simple rate of mterest of 4.5% p.a.
8  after two years?
¥
e, Fafiar AT ST 1 4.5% a1f¥ & 9T 37,000 TG SFAT F4A 8. AT 3 &1 a9 & a1

Tepctell TfRr wred gref?
Ans Rs. 40330
v ¥, 40330
Rs 3330
Xz F.3330
Rs. 39960
e . 39960
Rs. 2960
e F. 2960

Question ID : 9888374808
Status : Answered
Chosen Option :1

Q.10
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9 ICR stands for

FT 9T AT & N
Ans Intelligent Character Recognition

| efivic $act R
Information and Communication Reader
* et Uz w5t
Integrated Computer Research
xe £EEItE R REd
Institute for Cyber Research

" e ok e R

Question ID : 9888374779
Status : Answered
Chosen Option : 4

Q.11 The quorum to constitute a sitting of the Lok Sabha is of the total number of members of

0 the house.
dAREe T Sk & Tod F U IERAR FRA T F T FE=d H T

grar g1
Ans . One-half
1.
x Hrar
Two-thirds

X2 s

X 3 One-sixth

waodl
. One-tenth

«aﬂ?ﬁ

Question ID : 9888374755
Status : Answered
Chosen Option : 4

Q-111 Which alphabet will replace the (¥)?
ADIL*,Y
(+) & T 9T HiF-ar qof 3MUI?
ADIL*Y
Ans X" 1.T,
X2t
X3 N
vip

Question ID : 9888374825
Status : Answered
Chosen Option : 4

Q-211 World Sparrow Day is observed every year, on March 20 to:
fareg it feaw gfd av 20 AT & FaRT FACT §:

Ans x Celebrate the increasing number of sparrows
1. ;
AT ST Tt AT I IcHd HAl g
52

Show superiority of sparrows over other birds

3ed qiErt 1 deteln 7 aiar 1 Avear @ & feiw
v 3

Increase awareness for conservation of sparrows

AT & FLETT g ATl dele & Tow
Commemorate the birthday of Dr. Salim Ali

Question ID :9888374753
Status : Not Attempted
Chosen Option : --

L
Q;1 1% an irrational number.
T AT GEAT R
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Ars o1 N(2x3)
X2 o
X3_E

3

11
p g Rp—
8

Chosen Option :2 J

Q.11 In a certain code, if rat is called cat, cat is called bird, bird is called elephant, elephant is called
4 fish and fish is called rat, then who can fly in the sky?
s fafdse #1z A 9 #1 faceh, Toceh 1 Rfz, Rfgar &1 geh, gref &1 A,
3R Tl Fr ggT Fer Tar &, & IAT T 3T 7 FiE 38 aar 87

Rat
1.
g
Elephant

graiT

Ans

V2

Question ID : 9888374829
Status : Answered

Chosen Option : 2

Q-511 What will be the next number in the following series?
0,7, 26, 63,124, ?
frafef@a @ d 30l & #r g
0,7, 26, 63, 124, ?
Ans X 1.147
X 2.199
v 2215
X 4.187

Question ID :9888374823
Status : Answered
Chosen Option : 3

0-611 The ‘Fountain of Wealth® is located in:
‘Bi3wce T door Tgl Tud &
Ans Singapore

v -
)
Thailand

JIECES

X3 Saudi Arabia
ESETA N EC)
London

r

K2

Question ID :9888374763
Status : Not Attempted
Chosen Option : --

Q.11 The LCM of twe numbers is 114 times their HCF_ If the sum of LCM and HCF is 2300 and one
7  of the numbers is 380, find the other number_
T T T o . 39k AH. 114 AT 8| TG 7. IR A7 FTART 2300 § 3R v dwam
380 g, o gadl HEAr 71 FifaT

Ans X 1.140
X 2.160
v 3120
X 4.190

Question ID : 9888374790
Status : Not Attempted
Chosen Option : ==

Q11
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8 The ozone molecule is made up of atoms of oxygen. Question ID : 9888374766

iT Status : A d
Ans aﬂjfﬁ?rﬁrée—g A siterlister & A BT E alus : Answere
1.

Chosen Option :1

Four
2.
X IS

X 5 Flve
EIE)

Six
4,
X =

Q11 1 ine 1z di
o Which of the following is different from the other three? Question ID : 0888374834

E';Flﬁ @' El'ﬂH—FT Elﬁa CICINGIG] ﬁ' IE Gl %‘? Status : Answered

Chosen Option : 2

Ans x 1 Crocodile
 HINHATS
Sea Horse

V' g ar

Q.12 Which of the following is NOT a threat to the tiger population in India? Question ID :9888374754
uestion ID :
0 Aef@d & @« aRg &7 9=t f e & @v @dw a9 87
Status : Answered

Ans Reduction in available prey Chosen Option : 1

X 1.
3uersy fAFR & FAT
, Connecting Wildlife Corridors

V2 _
dedelld ATCRART T HATote
Cattle Grazing

X 3.

#HAAT 1 =TS
Habitat Fragmentation

x4'l;|1-‘=§i%’|$a’m$rﬁ13j§?r
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RRB Group-D Exam Study Kit English
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